[ — & = & |

1. THEROBITIRUL

PN CHA7: 1)
< I st psm | CRISUME | RIS | s | o

A B INA#% C | D=(B+C) | D/AX100
il Bi| 11,204,396 | 6,495,240 | 4,747,874 | 11,243,114 100.3
o o 5 OB 333,439 100,331 232,203 332,534 99.7
Z LT S R o 11,881 4,051 4,061 8,112 68.3
[ T B b R 35,004 6,258 20,252 26,510 75.7
RS FITSRI 2 A 4 27,580 0 15,527 15,527 56.3
H 7 iH # B fF 4| 1,508,988 886,556 631,371 | 1,517,927 100.6
=)L 5 R B A A 4 7,310 3,276 4,443 7,719 105.6
H &) B A5 B A2 AT 4 31,242 21,149 12,896 34,045 109.0
H B R BR B RE B A2 1T 4 13,743 0 9,045 9,045 65.8
5 R B 2 A & 178,972 78,587 120,787 199,374 111.4
o 5 & A Bil 10,620,560 [ 7,319,005 | 3,342,898 [ 10,661,903 100.4
A2 38 42 % SRR I AR AT 14,671 6,242 5,861 12,103 82.5
e Kk A 167,079 93,958 55,472 149,430 89.4
il 1ok K O F Hok 589,557 286,395 255,094 541,489 91.8
E % M 4| 7,210,260 | 1,985,118 | 4,364,572 | 6,349,690 88.1
B’ X o 4 3,390,312 466,953 | 2,371,919 | 2,838,872 83.7
i) PE I A 97,032 29,270 74,714 103,984 107.2
& ik & 105,854 22,811 51,232 74,043 69.9
i A 4| 2,276,842 1| 2,071,220 | 2,071,221 91.0
i ik & 861,494 861,495 0 861,495 100.0
7 I A 634,710 265,934 264,062 529,996 83.5
(i f#| 4,966,825 0| 1,489,825 | 1,489,825 30.0
& 7t 44,287,751 | 18,932,630 | 20,145,328 | 39,077,958 88.2

NP BEA A FEFEICIL, SOEENS DR 25 £,




Uk ith) (i F11)
< . et s | RRIOUME | RLIOAS | e | s
A B BUT#%E C | D=(B+C) | DA X100
i £ 2 269,039 143,798 121,218 265,016 98.5
Y % #| 4,776,121 | 1,650,344 | 1,762,098 | 3,412,442 71.4
IS A | 16,257,293 | 5,946,178 | 8,719,425 | 14,665,603 90.2
iy A4 #| 3,289,136 | 1,051,056 | 1,383,172 | 2,434,228 74.0
55 18) 2 34,672 20,954 12,074 33,028 95.3
Bk ok E ¥ OB 1,963,059 665,939 741,021 | 1,406,960 71.7
P T % 1,008,926 300,844 337,986 638,830 63.3
+ VN #| 4,851,155 | 1,481,391 | 2,207,593 | 3,688,984 76.0
| ] 2 1,636,123 626,397 637,124 | 1,263,521 77.2
# 5 | 4,765,222 | 1,680,923 | 1,667,890 | 3,348,813 70.3
$ 0F ® OB % 196,463 39,795 96,416 136,211 69.3
N & #| 5,206,018 | 2,584,551 | 2,619,407 | 5,203,958 100.0
E X & 2 0 0 0 0.0
¥ i # 34,522 0 0 0 0.0
& &t 44,287,751 | 16,192,170 | 20,305,424 | 36,497,594 82.4
KT R FUTHRITIZ, 30RO DRy 2 58 E T,
2. B O KDL @)
GGIN) —
. 4 mEs | sy | Ay | RERISP i
(M) (M) () () (%)
i 5 Bl 4,697,226 116,934 56,018 | 4,419,635 94.1
E & B 5,043,791 125,561 60,151 | 4,933,751 97.8
OB ® # OB 285,791 7,115 3,408 276,791 96.9
w7 F B 673,719 16,772 8,035 673,639 100.0
A s i 7,401 184 88 7,398 100.0
# o B m B 632,991 15,758 7,549 619,009 97.8
= 5 11,340,919 282,323 135,249 | 10,930,223 96.4




3. A MPEEDRI (SF124-3 H 31 A BIAE)

(BT T-)

B AAMGE S - HE &

11,616,096

4. fEANEOWRBL (FF249-3 H 31 H BIAE)
Bz T-M)
#HOE X 4 & XX 9 &

" % E 945,664 [ FH B H & 550,362
K A £ 2,022,377 5 B B MR K E 99,112
fa7 A I 350,350 | 9 B & 7|< 411,838
B K PE O & 1,033,942 2 B % F % 8,313
] T I 582,666 | 9 B & @ At 31,100
ZS =1 8,020,451 | RBLEERBAN CA MK 147,917
rn B OFE =2 B 669,658 |if F JF Br %F fil 1& 0
1H ] & 1,191,497 [ = 4 % 1 & & 268,289
# G [ 5,248,242 |k Wy Bl UL Al T A fE 0
ToE 2 & E 0 (& B¢ M B Xxb 3R M 16,585,888
® 5 f & 681
at 37,617,984

5. TEDWRI (G5 Fn24-3 H 31 H HAF)

(BT - 1)
ES ba) & %A

7 % f& 1,100
i A f& 56,900
B Kk E ¥ OE 14,600
+ ZN f& 201,400
# ) f& 207,100
$ 0F H® OB & 21,000
R M B oxb R & 987,725
NEARE EHE A 0
&t 1,489,825
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